RREF_= Row Reduced Echelon form 3 Gaug-Jordan row reduction algorithm

oW oyeraﬁéns: SwapRow Mulk plyRos AddRow
Q\H‘za RZ'—) SRZ 22‘—6 ‘22“1‘3‘2]
(«s wap MwS multiply rowl (add o fow 2.+ 3fimes row &)
A and 3 by 5

4. Startat the (1,1) entry,

restart: 0. Tfentry zero, swap up a (ow from below with a nenzero entry inthis cdumn

and proceed to the next step (unless there are no nonzern entries elaw
fhen move over Aght fo next entry and restact here>. ( swaPRowW]

3. IT¥ entry nonzero, divide ‘ts row by this entry o make b A, (MUTIPLY @Row]
4. Pwot on tnig ¢n‘\’\"9 (*the pivot m“) 4o moke the remaining column

entries zero (by adding multiples of this “pwotr row " fo the other rows

with coefficients equal to minus the cdumn erimes to be made zew ). [Acprow]
5. Move d(agonaug down o the next entry (over one, downovne) gnd restart.

G. Continue unfil ther is no next entry fo move fo according 1o the
procedure. o

Termindogy - The \eading entry of a Tow is the ficst
RN Ay fiest ponzers

The resul-h’na unique reduced matrix is characterized by :
1. The leading entries are 1's whids move down and to the nght,

[Eqmw\evﬁ\j: the lecding entry in each row istothe n;c,h\' of the previous one above:l
2. There are Ots doove and below each \eading ertry.

3. Any zec0 rOwS are abthe bottem.

:\:f no 20 entries are encountered in the pwot poé\‘\ions which cannct be
“Swaﬂ)edup" 40 a nonzero value , Then one just pivots down the main
d,\ogonq\ unhl Hr“ing tre bdtom o rght edge of the matrix ard S‘\'OPP\ﬁg_

[ Row echelon form differs from reduced row ednelon form n that one does
parhiol p;\ro\'inﬁ ,eliminating entnes belaw bur notdbove leading ones, and
one SRips e Mu\‘\'\P\yPOLJ o?er—qhén fo make \eading entnes 1. ™iIs is
caled Gaussian eliminandan insread Of (auss-Tordan elimindnon. We always
wantie do a C,OMY\e\-e \'E‘duc‘ho\h 0 IZREF" j%ﬂvl




BEXAMPLE 4 2X2

T (\0‘X+ 6y =2)

X—29 =9
5x4+ 3y =
X-2Yy =9
| -2y = 8-
¥(§)Q5X r3y =
= Gy=ioy = 49)
X—2y=8
%(0X%Byz“”>
Ox +2y = ~¢)
*7./7+(x-2\5=%
( Ox +1y=-3)
Ix +oy= 2

o + ly= —3

EXAMPLE 2 3X32,

23X +8y+72Z =20

X+2y +Z=- 4

2X ¥ 7Y+ 9% =23
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EXAMPLE 3! 3X5

~Z¥%, +4’X2 "GX;"‘?Xf —bXs=-13
X\ =2¥% +3%3+2%¢ +Xs= |LO
3%y _GXZ +CX= +2[Xg=—3




